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        ReadTheory 
Name________________                                                                                                                                              

Date_______________ 

••  AAnnaallooggiieess  44  Level 6  
  

  

DDiirreeccttiioonnss:: Choose the pair of words that 
best express a relationship similar to that 
of the original pair. Then write the bridge 
sentence(s) to the right.  
 

A finger is part of a hand. 
A leaf is part of a tree. 
 

  Example: 
BBrriiddggee  TTyyppee::  DDeeggrreeee  

##))        FASCINATING : INTERESTING 

AA))  amazing : incredible 

BB))  serious : grave 

CC))  crucial : important 

DD))  strange : weird 
 

  

BBrriiddggee  TTyyppee::  LLaacckk  
  

11))  ORPHAN : PARENTS 

AA))  prisoner : freedom 

BB))  doctor : patience 

CC))  man : feelings 

DD))  star : space 
  

 
 
 

Bridge Sentence: 

  
An orphan lacks parents. 
 
A __________ lacks __________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  
  

22))  MIRROR : REFLECT 

AA))  preacher : cook 

BB))  telescope : magnify 

CC))  nurse : smoke 

DD))  lock : unlock 
  

 
 

Bridge Sentence: 
  
A mirror is used to reflect. 
 
A __________ is used to __________. 

  

BBrriiddggee  TTyyppee::  OOtthheerr  
  

33))  CLOTH : THREADS 

AA))  gun : bullets 

BB))  guitar : drums 

CC))  chain : links 

AA))  star : planets 
  

 
Bridge Sentence: 

  
A cloth is made up of threads. 
 
A __________ is made up of __________. 

 

BBrriiddggee  TTyyppee::  CChhaarraacctteerriissttiicc  
  

44))  TATTOO : PERMANENT 

AA))  necklace : silver 

BB))  boat : electric 

CC))  phone : broken 

DD))  marathon : long 
  

 
Bridge Sentence: 
  
A characteristic of a tattoo is to be 
permanent. 
 
A characteristic of a __________ is to be 
__________. 
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BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  ((AAnnttoonnyymmss))  
  

55))  OUTDATED : MODERN 

AA))  beautiful : ugly 

BB))  happy : glad 

CC))  successful : rich 

DD))  curious : smart 
  

Bridge Sentence: 

  
Outdated is the opposite of modern. 
 
__________ is the opposite of __________. 

 
 

  

BBrriiddggee  TTyyppee::  DDeeggrreeee  

66))  ADORABLE : CUTE 

AA))  obvious : mysterious 

BB))  unkind : happy 

CC))  polite : common 

DD))  tragic : sad 
  

 
 
Bridge Sentence: 

  
Something that is adorable is very cute. 
 
_____________________________________. 

  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

77))  SCULPTURE : ART 

AA))  language : book 

BB))  justice : jail 

CC))  happiness : religion  

DD))  weightlifting : exercise 
  

 
 
Bridge Sentence: 

  
Sculpture is a type of art. 
 
_____________________________________. 

 

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  ((AAnnttoonnyymmss))  

88))  ORDER : CHAOS 

AA))  unity : division 

BB))  culture : feeling 

CC))  family : tradition 

DD))  anger : pride 
  

 
Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________. 
 

  

BBrriiddggee  TTyyppee::  LLaacckk  

99))  RECKLESS : CAUTION 

AA))  silly : thought 

BB))  doubtful : conviction 

CC))  selfish : friends 

DD))  shy : jewelry 
  

 
 
Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

1100))  FORK : UTENSIL 

AA))  jet : airplane 

BB))  fact : idea 

CC))  program : computer 

DD))  mountain : plastic  
  

 
 
Bridge Sentence: 

 
_____________________________________. 

 
_____________________________________. 
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Answers and Explanations 

 
1) A 
An orphan is someone whose parents have died. Thus, an orphan lacks parents. A prisoner lacks freedom because he or she is 
locked up in jail. Therefore (A) is correct. 

  
2) B 
A mirror is used to reflect. A telescope is used to magnify. Therefore (B) is correct. 

 
3) C 
A cloth is made up of threads. A chain is made up of links. Therefore (C) is correct. 
 
4) D 
A characteristic of a tattoo is to be permanent. A characteristic of a marathon is to be long. Therefore (D) is correct. 
 
5) A 
Outdated is the opposite of modern, or current. Beautiful is the opposite of ugly. Therefore (A) is correct. 
  

6) D 
Something that is adorable is very cute. Something that is tragic is very sad. Therefore (D) is correct. 
 
7) D 
Sculpture is a type of art. Weightlifting is a type of exercise. Therefore (D) is correct. 
 
8) A 
Chaos means a lack of order, sense, or direction. Thus, the opposite of order is chaos. Unity is oneness. Thus, the opposite of 
unity is division. Therefore (A) is correct. 

 
9) B 

Reckless means behaving dangerously or unwisely. Thus, someone who is reckless lacks caution. Conviction is the quality of 
being certain or sure. Thus, someone who is doubtful lacks conviction. Therefore (B) is correct. 

  
10) A 

A fork is a type of utensil. A jet is a type of airplane. Therefore (A) is correct. 


